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First Year Higher Secondary Improvement Examination
Part - II1

BIOLOGY
Maximum : 60 Scores
Time : 2 Hours
Cool off time : 20 Minutes
Preparatory time : 5 Minutes

/General Instructions to Candidates : \

® There is a 'Cool off time' of 10 minutes each for Botany and Zoology in
addition to the writing time of 1 hour each. Further there is a '5 minutes'
'Preparatory time' at the end of the Botany Examination and before the
commencement of the Zoology Examination.

® You are neither allowed to write your answers nor to discuss anything with
others during the 'Cool off time' and 'Preparatory time'.

® Use the 'Cool off time' to get familiar with questions and to plan your
answers.

® Read the questions carefully before answering.

® All questions are compulsory and only inteérnal choice is allowed.

® When you select a question, all the sub-questions must be answered from
the same question itself.

® (alculations, figures and graphs should be shown in the answer sheet itself.

® Malayalam version of the questions is also provided.

® Give equations wherever necessary.

® [Electronic devices except nonprogramimable calculators are not allowed in

the Examination Hall.
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PART - A
BOTANY

Maximum : 30 scores

817

Time : 1 Hour
Cool off time : 10 Minutes

s

1. In the family Fabaceae, stamens

are described as ........
a) Five, epipetalous
b) Ten, diadelphous
c) Six, epipetalous

d) Six, diadelphous

2, Identify the kingdom based on

~./

.

the clues given below.
a) Organisms are Eukaryotic.

b) Their cell wall is made up of

chitin.

3. Give the scientific term of the

following.

a) Interchange of genetic
material between non sister
chromatids of homologous

chromosomes.

b) Internode elongation just

prior to flowering.
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4 An enzyme present in plants,
which shows carboxylation and
oxygenation activity. Identify

the enzyme.

5. Distinguish between protonema

and prothallus.

6. Observe the diagrams given

below.
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A)

Name the type of flowers A and

B. Give one example of each.
OR

Write two differences between

racemose and cymose

inflorescence.
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10.

Parenchyma is a tissue for

storage, sclerenchyma is a tissue

The following are the characters
of dicot stem and monocot stem.
Identify the characters and

write in appropriate column.

a) Sclerenchymatous

hypodermis

b) Collenchymatous

hypodermis

c) Vascular bundles are
conjoint, closed

d) Vascular bundles are

arranged in a ring.

"Meiosis is highly significant in
sexually reproducing organism!.

Justify.

A cell when placed in a
concentrated sucrose solution,
shrink after few hours.

Identify the physical
phenomenon that leads to the
shrinkage of cell and justify your

answer.
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11.

12.

13.

14.

817
Ethylene is a gaseous hormone. 11. ogulel®d oy QOGS GaOOBERO6M
Describe its four different @em. mavyeBgl@ omleoad moel
actions in plants. (2) Q@YD I UB DM EBD
aflaudees. (2)
Ammonia is used to synthesize 12, awmyemd@ @renoeml@ld@ mimmgo
amino acids in plants by two ®@oalemd ERAEBR O®aloGlafleenma
ways. Name the two ways of oeng audlasgleaswoen.
synthesize of amino acids. (2) ®@oalemd @OAEBR ©@aldGlaflaenymm
0D 62} UFlBRIOSWI0 CaleOvP .  (2)
Glycolysis is the common phase 13. QoW WIMEMIOMWIo @OIOW]
in both aerobic and anaerobic wjmevle@@io DIOOIOIOW
respiration. Where does it take opI5006N ©6QELISIMMS.
place and what is the end agaflos@oem  ©9esenoglmlm’
product of glycolysis? @ mseemMa). e@len @aimomosila
©EMBIBIM HWAANEDE? (2)
The figure showing the pathway 14. 2fi@o essa:0desnoB Ml @M
of Tricarboxylic acid cycle is semaeslglon ayalaflesymy. A, B,
given below. Name the C, D agorl qunomemsgl@d Hoeemens
compound present in the MW OEBRIOS CalOOPIOID:. 2)
position of A, B, C, D. (2)
Pyruvicaeid | 3C
Acetyl coenzyme A| aC
4C D A 6C
4C C B 5C
Succinic acid
. 4C
5 Turn Over
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15.

16.

Position of - centromere
determine the shape of the

chromosomes.

a) Name the different types of
chromosomes based on the

position of centromere.

b) Draw any one chromosome

among them.

Photophosphorylation takes

place during photosynthesis.

a) Name the types of photo-
phosphorylation.

b) Distinguish between them.

(Hint : Any two differences)

OR

KR-143
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OR e g)sslod
Observe the given figure and 2o mdlesdlaf ATP aidanoemo
describe the process of ATP ANdeBloas. 3)
synthesis. (3)

Thylakoid
membrane

Stromui

;;L___, - F
i : 4
ATP synthase

ADP
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PART - B
ZOOLOGY

Maximum : 30 scores

817

Time : 1 Hour
Cool off time : 10 Minutes

1. Find out the odd one on the basis
of taxonomy and justify your

answer.
a) Family

b) Order

¢) Class

a) Herbarium

e) Phylum

2. The diagram of an animal is

given. Identify its symmetry.

(D

(1)

2.

S0HBIIMAIWINS @OSICUNOMEYSEd
B/OSH RO®N) HEMBET HEDIO

M0l 060>
a) anodlef

b) eoawd

c) o

d) eandeeniciwo

e) eeanelo (1)

2 (@ @016 6 0S)AM1R1 L6
doloes w@laliel opeommy

@) g Sl ‘ (1)
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Two characters of an

invertebrate animal is given :
a) Jointed appendages
b) Malpighian tubules

Identify the phylum and write
the role of malpighian tubules in

it.

"In cockroaches a special mode

of vision is noticed.”

a) Write the speciality of vision

in cockroach.

b) Name the organ and its basic
units that perform vision in

cockroach.

Identify the WRONG statement

from the following and correct it.

a) Lipids are mnot strictly

macromolecules.

b) Cellulose is not a

polysaccharide.
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b) emgeaon’ 8} caloglavose-
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6. Examples of two enzymatic
reactions A and B are given.

Identify the class of enzymes in

817
OOMOWMIBHEINS (U @B M @m)
930a0@lenm A, B ogmit o’

(IOUREMMNEBEOEM @IS 6)5H0SUBTL!

A and B. (2) se)M®. A @lage B olepe
lidemlenym eomoimlea es
lleowo(Oav) aRODOMNY B bh. {2y

A) S Reduced + S' Oxidized —__, S Oxidized + S' Reduced.
(S, S' — substrates)
B) S-G+S' ___, S+8'G
(S, S' — substrates. G - group)
OR ’
e gl@iat

"Protein is a heteropolymer not “RIDEIMHD eandlenoealoglas

a hOl‘nOpOlymer". Substantiate mm" (gn_og(ga‘,g@ﬁ_jog']mﬁf, @0?\:‘

the statement. (2) (ITTDTOUMEQ - TUOUWCIE . (2

7. Select the connective tissues 7. ®00% 080500 dlE0 00w
from the following and write one mlmio  QVoBWOIRWE  hBImUd
character of each tissue. (2) @06 6T SO GHC00

myeoaumllerad® alldme afeymim.  (2)

Areolar tissue
Neural» tissue
‘Adipose tissue

Cardiac tissue

KR-143
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8. SA node has the key role in the
rhythmic contractile activity of

human heart. Give a reason. (2)

9. Complete the following table
which shows digestive glands
and their enzymes in an adult

man. (2)

DM}ty aOJBRETIOR GO/OGDHHDIQ
VED0210NBHOM  (aiUd @M D@D
SA  emoa aUIIWOM Al
QUaOlEeMIENE ag)M e oMo

EHOMEMO (LYEB®DIBE D>

8o eRETIR 80gOS GanMmUMA
®8lo @OAUIOS ©OMON MIH:8lo
OBOQ]g ®IOY ©dISEIB1LeM

alglds albmseElanes.

817

(2)

(2)

@AW (NMAlEWD

Digestive gland Enzyme Function
BaOMEMA lelspleléslep] whomo
Gastric glands A) Protein digestion

D0oVYETER BaOMo

Salivary gland Selivary

amylase

oalladld (male:dd

maIiaIch araleaiimy’

Nucleases Nucleic acid digestion
.......... ©)........
mygsleaimy MYLR1H5 @OCRETRRIOS BadMo
Pancreas Lipases
........... D).........
aloM@lomy eﬂegjm)"(rmﬁ
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10/1" In the given gréph of oxygen- 10. @midleaym  80@ mlRmd-aolend
haemoglobin dissociation curve eggoenlicd asleromiieaid exdallond
'X' axis denote partial pressure Woadleel X @oddo 698 Lo
of oxygen. What does 'Y’ axis al0®any@ (alad Ol Mm@ O6m’
indicate? Write any two factors aloslwomoe ealgumM@. Y @pdHo
which affect the sigmoid curve. (2) |- agyilemmosny (al@laflula@leayma?

0 (oadleal miluiemoiad sdallem
mowlmleanim @6nE CRISEHBRINS

DTS (2)

100

80

60

20 /

0 20 40 60 80 100
Partial pressure of oxygen (mm Hg).
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11. Observe the given diagram of

mnalpighian  body (renal
cerpuscle) and answer the

following

]
A} ldentify the parts A and B. !

h) Specify the function of

proximel convoiuted tubule

~
nNo
e

in urine formation.

P2, In the medical record of a
patient blood pressure is noted
ac 140/90 mm Hg. What does this

condition indicate?

89

e
el
[y
N
W

14

11.

12.

@milelenim aomaflelom esnious]
wes (dlm@esodgjmd) alimo
mldledla] moey LSOOI eyl

UQSE) ADOORLY®).

Efferent arteriole

2) A, B agoml eonemsgemm

Q) PI® .
b) ay@ecm e dlen;mmlam
EosMIo®  sedeaogiguw”
SjMiales (demm aiss

QUYBMDOBE D>,

80} eANIWOS  HOMUBYIN®

coalwl@ OB D® madgo
140/90 mm Hg agyorry @R6UOQ|S)ETH
of@lonymy. ov @ ag)avlem

mgaflafleeiom;.

817
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3. vAn athlet met an accident on the
ground. His thigh bone slipped
off from the girdle.

a) Write the name of the above

mentioned girdle.

b) Identify the type of joint that

slipped off.

Name the disorder caused
due to the accumulation of

uric acid crystals in such a

13.

£OQMmOM EH @ aocallay)
B0aIBSOE B0} H:0d HSOETeM
ayseg] srnadlad @omdsgld oo

GBS eME0N.

a) DT BOMAM HOEMINM EMAIT
a@@oem?

b) egmy. ®oowiengs @omLdl
mawlwoem’ oalles
S06MO IS} ?

c) oomoo awiegld @ole

@MW  al®eet  @oslenm)

817

S0 01)LIDIENSTdhy (N
joint. (2) cEONETIOMR GatenT? (2)
Observe the following branching 14. @6y ed:ospwildleim Ko li®o
tree diagram. A |86
Adrenal Gland
N X
Adrenal medulla VAN
(Central part) (Outelr part)
Hormones Hormones
: Corticoids
Adrenallne asesscserssesssesssns
a) Complete the representation a) X, Y agamias aydeflapesosts
by filling X' and 'Y". wosuoali@o aldETedlee)s:.
b) Adrenal medullary b) (amm;lm(o% 2R ol
hormones are called Gand cmoemg,d?ao'b GaidMISILOMYo
] i afld@lelemm 80S0U0MInI8s
'Hormones of fight or flight'. , . .
@an0BdEROAMIHRD’ @M ag)m
Why? @) AIOYMODIDIOH06ME? (2)
15 Turn Over
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. Nerve impulse transmission

include generation and

propagation of action potential.

Write various stages or events
in the generation of action
potential.
OR

Observe the diagram and
construct a flow chart to show
the mechanism of transmission
of nerve impulse across a
chemical synapse.

Neurotransmitters

3)

3

15.

MmOl ERRAINEBRINS ClaldHem

oDl @B UMD ©alogMBauy@d

®Jalen|Sidh®Qlo @S (alMrEMo

MSHNIGHW]o S2IQPIMINE. EDBHD

OalogMaty@  JateolSAMN®Ien]

alaflw epIgam@d o@e®meMMYIm)s:.
o TN

- @o6Y  oHs3emIvlenMm  afl@o

mladlelaf” mowlw @oewasd
eBalHnN@ mimoaimmilepes @sary

CalddymMmle GqQo210ds
BYOOIBE)Bs.

Axon terininai
Synaptic vesicies
Presynaptic mernbrane
Syriaptic cleft

\ Postsypaptic membrane

~— Receptors

b) Compare any two characters
of class chondrichthyes and
osteichthyes.

3)

16. Observe  the  following |16, “woee 0B05)N A HOM MOSLSS
vertebrate classification. | ZLaleaos UdPBeemo
! i@l 8638
Vertebrata
I
Gnathogstomata
a eostoesocses o T
Super class
| l
Pisces b eeccccsocsocses o
Class Class
~ Class 1 Chondrichthyes ; 'I:m%};fb‘a
: eptilia
Cyclostomata 2 Osteichthyes 3 Avgs
4 Mammals
a) Find out 'a' and 'b'. a) a, b ogmlau agemmany

HOENOH>.

b) esomd(Sie@lay aomigles@ilay’
ag)Ml HOTHYYOS NS QVEOQ
MU ®H WD ®OO®AYyMo
£.01Q)es.
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